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0r) a) Detine lhe term Operatiolt Danagenent and explain the nain aclililies involved
under lhis? 16 M2rks)

b) Describc the benefits ofE-Business in Opcrarion managerrrenr? (6 Marks)

c) Explain the actirities of dillerent tvpcs 01'deparlments coming under the area ol-

Production MaDagernenl? (8 N4arks)

(1'otal20 Marks)

a) Define the telnl Quality and state the costs associated with Quality wilh appropriate
examples (5 Markt

b) Explain the inporlancc of research to a nlanufaclurirg organization and briefly
explain the diflerent llpes ofresearch? (8 Maks)

c) Sepa.ately point out and cxplain the dimensions 01'quaiil) 1ar Lhe pRrducts and

senices? (9 \'1arks)

( fotal 22 Marks)

02)

03J a) Distilguish belwccn a fixcd-order-quantit_y system aDd fixed-tj]ne-pe od svslem?

(4 Marks)

b) Define the tem cellr.rlar layout and list out the advanragcs and disadvantages oi it?
(8 Marks)

c)l-isloutthc dillerences belweeD procluct anLl fruccssla)our.' 1,, lto ..l
(l otal l8 Marks)



04) ?) What do you undersland by the
approprlate examples the ways of

c) The foilo\a,ing data is given lbr you:

Cost per order 20/=
Annual requisition i 8,000 units
l-loiding cost pet item per annum l0%
Notmal usage 1120 units
Minimum usage 4g0 units
Maximum usage 1440 utils
Lead tjlne l5-20 days
Cost of a unit 5/=

You are required to calculate the follor.vings:
i. EOQ

ii. Re-order level

iii. Miuimum level

iv. \4aximun level

05)

term "Produciviry,, and brielly explain
lncreas1ng productivity in an olganization,/

bt Explain \ t1h appioplialc cxamDles
dependent demand arises 

the situatiolls undcr r"hicil ilclependent

"r:.::.",1. rerm Materjat Requisjrjou planning (MRp) and e\piain its advaland djsad\ antages to a marulacturing organization ." ",-(e

. (Total 20 Ma
a) Identify current trencls in Operation rnanagemeDt and descdbe them?

(4 Mcr

b) Explain the reasons for making assumptions for developing the basic EOo
(4 Mar

(12

(Total 20 Ma


